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Mean Deviation

_ = _ - Ylx — x| 1891
x |x — | lx — %|? | | = = 1.719

1 [1-3.182=-2.182-2.182 | (2.182)2 = 4.761 i 11
1 1-3.182=-2.182=2.182 | (2.182)? = 4.761 Variance
2 2-3.182--1.182-1.182 | (1.182)% = 1.397 _ Z|x—x|*  49.635

g2 = =4.512

@ [2-3182--1182-1182 | (1.182)% = 1.397 Exa MP,e L 11

N> 2-3182--1182-1182 | (1.182)% = 1.397

Standard Deviation

_ : : . L
\2 -2-3.182—-1.182-1.182 | (1.182)° = 1.397 s = /Sz — 1{4512 — 2124
3 13-3.182=-0.182=0.182 | (0.182)2 = 0.033
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/3 3-3.182=-0.182=0.182 | (0.182)% = 0.033

O

f5 5-3.182=1818 | (1.818)2 = 3.305 :
‘6 6-3.182=2818 | (2.818)% = 7.941
b8 [8-3.182=4.818 (4.818)% = 23.213

2 =1891 X =49.635




